TP a7 'oIn R, n"a 702

What if he sanctified it without seizing it — 177 75pn K22 WSTPT

OVERVIEW

X7 " queried (according the s'®n3 explanation); what would the ruling be
if one of the litigants holding the n°>v grabbed it away from his opponent in
the presence of 7"°2, where initially he remained silent, and subsequently he
protested the seizing of his share of the garment. This issue was not
resolved. The X711 continues if we would assume that in this case the ruling
would be that the seizer retains the garment (since initially his opponent did
not protest), what would the ruling be if one of the litigants (instead of
grabbing it away) was w7pn the entire n°ov; does the entire N become
w7pPi or not (as the X3 explains both sides of the query). Moo clarifies the
case of 19PN X732 nw 7P and elaborates on the explanation of this query.

— ANY 93N NHNRYYI 910D YWITPNY NPV PRVY 1) 92) 5991
And this query is also discussing a case where he was silent when his
adversary was w>tp» the n°%v and subsequently when the treasurer of

w7pn demanded the n°ov he protested, similar' to the case of w2 71X 79PN,

where the issue was in a case of ¥ 02N pHw.
— 2n9PN5 WIPA M 919 112D INNINT 1199 1YY NIYam

And his query is that since the rule is that promising to wps, etc. (is the
equivalent of transferring an object to a lay person), therefore the act of

wopn is like 12N, and therefore since wpn is like 79PN, we assume -
— 3t MM MY ITIN MNNIN PRVY 1197

that since he was silent after the w7pi, he admitted to him that it belongs
to his adversary and the n°5v will become w7p:.

! Presumably the case of m¥ M0271 pnw by 137192 ' 79PN is that after a (small) interval, the aggrieved party
was X (but not that he was pnw the entire time when they were in 7"°2, and he was nX only when the
grabber was leaving 7"+3, for that would seem to be the case of 17 *T\R »7K pnwT *X, for obviously at some
point he protested [otherwise there is no claim at all]). However here by nw»7pi the nx 71022 does not
mean after a (small) interval, but rather he was pnw completely until the 7213 came to collect (his share of)
the n°%v. The difference is that when the article is physically taken away, then the protest must be in close
proximity in time from when it was taken away; otherwise it is certainly 72 *TW »7X. However by wpn
since the item is still in his possession, it is not [as] necessary for him to protest (as long as he is in
possession); only when the 7273 wants to take it for wTpn. See 7"nx # 243.

%927 1n7°0m3 Max» K should accomplish that the aggrieved party should realize that the item has been
taken away from him (figuratively), and if it is indeed his, he should respond appropriately by protesting
immediately (even before the 7273 comes to take it away physically). See ‘Thinking it over’ # 1.

> We are now assuming that by 79pn if it was ¥ M0271 pnw we rule that 1772 IR PRI PR,
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MooIN mentions an anticipated question:
— VPNY 1915 PR DNNIYT DO5YAN YNNI NI 1D 19T XD

And our case in this X°v2°X is not similar to the case where a 1513 stole an
item and the owners did not give up their chance to retrieve it, the rule is
that both of them (the 1711 and the owner) cannot be w 7P this item -

— MY IINRY 29D N ITY IINRY 29D M
This one (the 1713) cannot be w>7pn it because it is not his, and this one (the
owner) cannot be ¥>7p» it because it is not in his possession. Seemingly here
too, how can one person be w>7pn the whole n°2u (even if are to assume that since he was
silent he admitted that it is not his, nevertheless), since half the n°9v is not in his
possession; it is being held by his adversary?!

mooIn replies that our case of M¥ MO pnw is different from 121 WR>N1 XD 13
— 1PN 91997 DYINN 19315 WIY NP 397 199 STINT 11994

Because here since he admitted (by his silence) to his adversary, it is
considered (for the v>7pn) as a deposit which another party is holding for

him, where the owner can be wW>TP"» this deposit, even though it is not in his
possession, similarly here too if fp°nw is AXTI7D then the one who is PMW is (merely)
holding the n°%v as a 117po for the one who is w7pn it.

mooIn proves that one may be WTPn a 0NN 72 Y W NTPo;
— 5’519 9P PNPINT NIND 22D (3,09 978903 N33) NI*QDVN HN 929D NIINTD

as is evident in 7199977 nR "2w7 P19 regarding the case of the one who

brought pumpkins to sell, etc. The X3 there concludes -

— MWD 2N 1NNT I8P NY INY
That if their price (of the pumpkins) are not fixed, they become w7p:. It is
evident that even though the pumpkins were not in the possession of the w>7pn, but rather
they were in the hands of the customers, nevertheless the w7p7 is 211 for it is considered
only as a 1779 by the customers.

mooin explains the other side of the X°y2°X:

* The owner cannot be w>7pn the item when it is in the possession of the 1713 because the 1713 is retaining it
for himself and has no intention of returning it to the owner, therefore it is considered 10112 11°X. However
where the litigant (by his 7p°nw) is admitting that it belongs to the owner and is therefore willing (and
obligated) to return it, in that case it is considered 2R 7°2 17 ww NP0,

> The story there is that someone brought pumpkins to the market for sale. The people were grabbing the
pumpkins, and the owner, afraid that he would not get paid announced that he is w>7pn the *7p. The X3
concludes that if there is a set price for the pumpkins then they are not w7p, since the people who took
them intend to (pay for them and) buy them, so they are not in the mw- of the w*7pn. However if there is no
set price for the pumpkins then we are not certain that the people will want to buy them when they realize
the price; therefore it is considered as if the >7p is in their possession merely as a 179 and the wTpn is on.
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— %5934 Yrawa NNYS NNYT 19PN NN XY WIPN NNYTIN
Or perhaps w7ps is not the same as seizing, for why should he protest

because of his words; in his mind, words (as opposed to seizing) are meaningless.
Therefore the fact the he did not protest is no indication at all that he is conceding
ownership but rather he is not upset at all by this w7p: since it belongs to him and not to
the wpn.

NN continues with the conclusion of the Xn3:
— 7‘[‘1’N POV 1N VTPNT RMON NXNNN NN

And the X713 cited from that case of the Xn1o» where one of the partners

was we7pn the Xn1on and the other partner was silent and did not protest -
SANTIND 1IN INPINY NNOR VTP 1N NYT NIPOM

And the conclusion in the case of Xmon is that it is not wTpm; it is
therefore evident that his silence cannot be interpreted as an admission.

SUMMARY

The query of n9pn X972 nw7pn is where he was ¥ 710271 pnw. The question
is whether he should be mx (since V7% 1M0AD 71232 INAR), or whether
there is no need for MX since it is merely words and no physical removal.

THINKING IT OVER

1. Seemingly the admitting (through ;7p°’nw) was after the w7pi1,” how can the
wpn be 71, when at the time of the w7p77 there was no admittance, and he
was like a 1o12?°

2. It seems that the reason M»dOIN gives why AW 721 is not the same as 7PN
(because there is no reason to protest)10 1s not the same as the s'R773 reason
(that it is not 1MW12); in fact according to NMAOOIN it is not WP because it is
not 19w (since he did not admit) and not (only) because it is not w22

% See “Thinking it over’ # 2.

7 For a comprehensive explanation of xnion see following X1 "7 moown. The question regarding Xmon is
not the same as the query regarding n19pn X2 7w>7pi, nonetheless since by Xmon the ruling is that it is not
w7pn (because it is 0°1°72 ARXIT? 212° DR XY 1mn) regardless that it was a case of pnw, this proves that by
WP we do not say X7 ARTIND AP nw, for if X7 ARTID AP°NW it would be 2°1°°72 ARUXITY 210 ANRW 1N

¥ See footnote # 2.

? See X'"2v 7 oW1 7YY PIAA.

' See footnote # 6.

' See "nk # 256 that the X3 is teaching us that it is not even a w7pa Pa0 (even though there is a
possibility that the n°?v belongs entirely to the w>Tpn, nevertheless), since it is not 1NW132, therefore there is
no wpn at all. See »n"n1 and ¥p MR 7102 >"72 for a different approach.
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